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Year 3

Year 3

Addition

| Subtraction

| Multiplication

| Division

Written Method

Column addition

223
+114
337

234
1562
182

Short Multiplication

Short division

three digits, using formal written
methods of columnar addition and
subtraction

Add the ones first, then the tens,
then the hundreds.

20 + 5
40 + 8
60 + 13 =73

Start by partitioning the numbers

Add and subtract numbers with up to

Intermediate step may be needed to
lead to clear subtraction
understanding

47-24=2> R
L T A
=ot3. 77 ()

Partition written method

6-2542582

Start with multiplying by one digit
numbers and showing the clear
addition alongside the grid.

X 30 5
7 210 35

210 + 35 = 2445

Moving forward, multiply by a 2 digit
number showing the different rows
within the grid method.

Jump forward in equal jumps on a number
line then see how many more you need to
jump to find a remainder.

o

Draw dots and group them to divide an
amount and clearly show a remainder.

OOOOL

Use bar models to show division with
remainders.

37

10 8
before formal column to show the = Without remainder
exchange Formal Method 40 +5 Ask ‘How many 5s in 407’
10 100 30 +5+5+5+5+5+5+ = 8 fives
0 5 10 15 20 25 30 35 40
With remainder
3 30 24 38 +6 Ask ‘How many 6s in 387’
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536
+ 85
621
11

234
-152
182

0 6 12 18 24 30 36 38

G sixes with a remainder of 2

Developing conceptual understanding

Model using base 10 or Numicon

T 0
OOIT007T77T] | mEEm
EEEEEEEEEE]
OO (mEnEE

Add together the ones first and then
the tens

Tens Ones

CTHEE B
3 ie &

9
Place value grid
';
o1 ©®|°® |
0000 (000 -
i n
@ =

Exchange ten ones for a ten, Model
using Numicon or place value

Column subtraction without
regrouping (friendly numbers)
Use Numicon or base 10

}}%gﬂ_ﬂ
i

Draw representations to support
understanding

T

FRTIITIIY,
S

CCIIIIITITIT ] Lakubimons
Svsswsweusf )}
= 35

Column subtraction with regrouping
Begin with base 10 or Numicon.
Move to place value counters,
modelling the exchange of a ten into
ten ones. Use the phrase ‘take and
make’ for exchange.

Ones

Start by reinforcing mental methods
of partitioning
Start by reinforcing mental methods of partitioning:

“f 13x3=(10x 3) + (3 x3)
=30+9Q
20 + ¥ : 30 =39

15 x2=30

Show the links with arrays to first
introduce the grid method.

E 3
10 30
4
2 &
36

Move onto base ten to move towards
a more compact method.

Division as grouping
Use cubes, counters, objects or place
value counters to aid understanding.

YYYXOXXX:EXEl
(L XX NAAAAD

e —

24 divided into groups of 6 = 4
96 « 3 =32

9 Y9 ¢
%9 @ %
0® o® g

Division with arrays

Link division to multiplication by
creating an array and thinking about
the number sentences that can be
created.
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counters
® o 146
0000 0000 i 3227
010
@@ 01000
01010

i i

Pictorial representation

4%

‘29 Tens [Ones
adgad
[ b ﬂﬂﬂ Z;zua’ )Efiag

X 3
10 30
+

» 3
1

: B | o o [0
3 -]

36 3o

Move on to place value counters to

Eg15+3=5 GSx3=15

15+5=3 3x5=15
Division with remainders ‘
14+3=

Divide objects between groups and
see how much is left over

&)
o a show how we are finding groups of a
M|'55|lng Number Problems ‘ B e o number. We are multiplying by 4 so : :
Missing numbers should be placed in i = we need 4 rows Missing Number Problems
all possible places: w + = lb ; ; . _ .
3+4= =4+ 3 Missing number problems: Flllgleach@r)'ow W'tz 126 Missing numbers placed in all possible
3+ =7 7= +4 Missing numbers should be placed in =t ; arirn placei - o
B - all possible places: _9 (S35%) ; 6+2= =6+12
4+ —7 7—3+ 16-9= =16-9 ::: -{;‘- i &+ = 3 I=§ +
+vV=7 7= +V l6- =7 7= -9 Add up each column, starting with +2=3 3= +2
Bar M°de|mh -9=7 the ones making any exchanges +V=3 3= +V
7=16- needed
- ~\ V=7 7= .V Bar Model
Al whcla & pumbar of porto ® ana part
—:l part = prt = whale Bar Model r' _J\‘_ wwhiale + s et = meriser o pirta
T ; . .
part part ﬁ E | J l ]
. 4 P = — —
oy I e =
= | e Then you have your answer. e
[rwan ] — nA
port pert 'l ™
. = | Missing Number problems T T T[T T 1
A TR . . Missing numbers placed in all possible v et e PR el
L e laces S
S Tx2= =2x7 e
larger quantity - amaller quantity = difference 7 X 2 - :: :j - 2 x 7
X4L= =4X
xV =14 4= xV
Bar Model
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s

wiuallas qransiing

sl quentiby & malteles = orger cucriey

With jottings Or in your head

add numbers mentally, including:

* a three-digit number and ones

* a three-digit number and tens

* a three-digit number and hundreds
Counting on

115+ 2

‘Pt 115 n your head 116 117-
Partition rarsber ord recoenbine

127 + 90z 100 + 20 + 7 + 500
=100« 110 + ¥
= 100 + 117
= 27
Two two-digit numbers (including
answer crossing 100)

subtract numbers mentally, including:
* a three-digit number and ones
* a three-digit number and tens
* a three-digit number and hundreds

Counting back: 263-5

“Put 263 in your head, 262, 261,
260, 259, 258"

Subtract mentally a'near multiple
of 10" to or from a two-digit
number:

678 -90 =678 - 100 + 10

Use unprepared numbered lines to
subtract, by counting back:

516 - 400 = 116

116 216 316 416 blé

\VAV, VAV

-100 -100 -100 -100

* two two-digit numbers (including
answer crossing 100)

Use known number facts and place
value to subtract (partition second
number only)

37-12=37-10-2
=27-2
=25

3

n g
LS -
- - SO
-2 -10

Find a small gifference by counting
up
42-39:=3

+1

AN e s
[ ———

Subtract mertally o number near 10
to or from o two-digit number
35-19=35-20+1

5

28—

16
Counting on with number Incs Fartiton both rumbers cnd "\_5_/
resomrbine
6-36:84 -2
e . B2:2047+80
- - A
) el om 100 +9
19
Ads the nearest mutpeet 10 the OLr® on oy partitaning
odjust umber ordy
+ 59 4 the cor ¢ h+§2-01-10
23+5
170

3=20and 20 = 60 + 3)

understand and use mental methods using multiplication a facts (e.g. using 3 x
2=6,6+3=2and2 =6+ 3) to derive related facts (e.g. 30 x 2 = 60, 60 +

30 x 5 = 150 50 x 3 = 150 150 + 5 = 30 150 + 3 =50
3 x5 =15 OO0 00 15+ 3=0

3 x 50 = 150 00000 150+ 30=5
BEx3=15 O0000 15+5=3

5 x 30 = 150 50 x 30 = 1500 30 x 50 = 1500 150+ 50=3

Recall and use x and + facts for the
3, 4 and 8 times tables.

Recall and use x and =+ facts for the
3, 4 and 8 times tables. Recall x and +
facts for x tables up to 12 x 12
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Year 4

Year 4

Addition

| Subtraction

| Multiplication

‘ Division

Written Method

Column addition

5
3
)
|

Wled O

|
+ | &
6

-0 o O

Column Subtraction

8"
3 X &L
- 1 415
ZI % 1T

Multiplying a 3 or 4-digit number by a 1-digit
number:

Compact short division
318+6

05 3
6 [3°1'8

318+3=53

add numbers with up to 4 digits using
the formal written methods of
columnar addition and subtraction
where appropriate

Use the written method with

subtract numbers with up to 4 digits
using the formal written methods of
columnar addition and subtraction
where appropriate

Subtraction using expanded written

multiply two-digit and three-digit
numbers by a one-digit number using
formal written layout

Multiplying a 3-digit number by a 1-digit number:

divide numbers up to 3 digit by a one-
digit number using the formal written
method of short division and begin to
interpret remainders.

Compact short division showing
answer with a remainder

decimals in the context of money method using exchange 246
£3250+£2175=£5425 81-57 ..recorded as X 7 432 + 5 becomes
£32.50 42 (6x7)
+£2175 T O T O T O 8 6 r2
£54 25 80 1 —70 11 g0 11 280 (40x7) 3
— T -50 7 -50 7 -50 7 1400 (200x7) 5|4 3 2
20+4 24 2044 24 1722
Use the written method with Multiplying a 2-digit number by a 1-digit number;
decimals in the context of money 23
£4250-£1335=£2915 x 7
£°4'2.%570 161
-£ 13 35 2
£ 29 15
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Multiplying a 2-digit number by a 1-digit number:

23
x 7
21 (3x7)
140 (20 x 7)
161

Developing conceptual understanding

Place vaIue grld

o9 ?: l.-' ::
2500 ol
o
7 1 5 1
. ]

Arrow Cards

ENp) 70> - 7R

Base 10 (tens and ones)

Exchange ten ones for a ten and ten
tens for a hundred and ten hundred
for a thousand

I
| Tend LaiTe

O |l
0 i

Hisswdlreds

|

Adding decimals using common
denominators

YRS

Model processes of exchange using
numicon, base ten and then move to
place value grids

234-179

@ | e ®
00 P00 eo00®

® 00 |eee®
0000 |00 ®

© o009

Base 10 (tens and ones)

take away 54

leaves

| e

Subtracting decimals using common
denominators

It is important that children know
that

when multiplying by ten it is not just a
matter of adding a zero! The digits
move left, and a place holder (0) may
have to be inserted.

Dividing by partition

A0+4=10
32+4=8
T2+4=18
) 14 + 3=4%
Sharing ® o
representing ® 00 00
remainders as o0 00 00
fractions 1 2

Repeated subtraction of chunks

Using a number line to take off chunks
Med

ixd 5ud I0x4

T4 z4 =ID+54312
4+4 = 1Er2

Repeated subtraction of chunks on a
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o= vertical number lin
4 4 4 74+4
—74
=
/—‘ /—‘ = -40 10x4
- ) = 34
w \l/ —-— 20 S5x4
—14
—— il ,
oo —0
744 =10+5+3r2
74+4 =18r2
Bar Model To divide by 10 and 100
whele
one part x number of parts = whole
Bar Model A
g N
= (R ——
AL Bar Model
ol ) - N
rt <+ part = whel H part
. ] A —— Bar Model
\—.Y,—J IR PR
= part whale - part = port 'd S whale whals + rumbae of parts = ers past
_A.__ whale + ore part & sursker of parts
— ] T T T T -
R ey i l:] smaller quantity x multiples = lorger quantity | | | ]
| . .
Bt il it 1 smaller quantity \_':;_j
D e e
wmmller quondity + differsnce = lorger guntity
diffaranca ‘f -\'
lorger gquartity = smoller quontidy 7 dif ference | | | | | J
- lorger quantity + mmaller quontity = mudtiphs
\_Y,_} larger quantity = midtipless largerquantry
smaller quantity
With jottings Or in your head
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add numbers mentally, including:

* a four-digit number and ones

* a four-digit number and tens

* a four-digit number and hundreds
* a four-digit number and thousands

Counting on

3115+ 2

“Put 3115 in your head, 3116, 3117."

Adding near numbers and adjusting

7433 + 90 = 7433 + 100 - 10
=7533-10
=7523

Partition number and recombine

5127 + 2000

Count enby splitting units to make next
multiple of ten/hundred

5000 + 100 + 20 + 7 + 2000 | 2360+ 500 = 2360 + 400 + 40 + 60

=7000+100+20+7
= 7127

= 2400 + 400 + 60
= 2860

* three and two-digit numbers

Partition both numbersinto hundreds,
tens and onesand recombine

358+73-300+50+8+70+3

Partition second number onlyinto
hundreds, tens and onesand recombine

358+73-358+70+3
=428 +3
=431

subtract numbers mentally, including:
* a four-digit number and ones

* a four-digit number and tens

* a four-digit number and hundreds

* a four-digit number and thousands

Counting back: 5263 -5

“Put 5263 in your head, 5262,
5261, 5260, 5259, 5258.”

Use unprepared numbered lines to
subtract, by counting back:

1516 - 400 = 1116

=300+ 120+ 11
=420+11
=431
Partitioning with number lines
+0 3
P N
338 28 a1

Add the nearest multiple of 10 or
100, then adjust

458 + 79=-458 +80 -1

Subtract mentally a 'near multiple
of 10" to or from a two-digit
number:

3678 -90=3678 - 100 + 10

1116 1216 1316 1416 1516

}.O}UUU

-100 -100 -100

* three and two-digit numbers

Uze known number facts end place
value o subtract (partition second
number only)

437-12:-437-10-2

=427 -2
=425
425 427 437
-2 -10

Find o small difference by counting up

6003 - 5998:=5
+2 +3

SN W
5998 6000 6003

recall multiplication facts for
multiplication tables up to 12 x [2

* Play games, chant, test etc to
increase speed of recalling facts.

* Make models and images to display
facts.

* Investigate patterns within tables.

recall division facts
tables up to 12 x |2

* Play games, chant, test etc t
increase speed of recalling facts.
* Make models and images to disp
facts.

* Investigate patterns within tables.

Subtract mentelly a number near 10
to or from a two-digit number

3015—19:305 20«1
A

Tl

Use knowledge of multiplication facts
and place value to derive related
facts.

30 x5 = 150 50 x 3 = 150 150 + 5 = 30 150 + 3 =50
3xb=15 00000 15+3=5
3 x50 = 150 00000 150+ 30:=5
5x3:=15 QO@OO®® 15:5:=3
5 x 30 = 150 50 x30=1500 30 x 50=1500 150+ 50= 3
Partition
18x9 =(10x9)+(8x9)
=90+72
=162

Use knowledge of multiplication facts
and place value to derive related
facts.

30 x5 = 150 50 x 3 = 150 150 + 5 = 30 150 + 3 =50
3xB5=15 00000 15+3=5

3 x50 = 150 00000 150+ 30 =5
5x3:=15 OQOOQOOOQ 15:5:=3

5 x 30 = 150 50 x30=1500 30 x 50=1500 150+ 50= 3

Partitioning/Chunking

77+5 = (B0 +B)+ (2B + B) + (remainder 2)
= 10 + B + (remainder 2)

= 15 remainder 2

Page 10 of 18




Year 5

Year 5

Addition

| Subtraction

| Multiplication

| Division

Written Method

Compact written method involving

carrying
25,748 + 46, 374=

| 25,748

+ 46,374
72,122

—_—l
1111

Compact written method exchanging
across columns
45,748 — 26,374 =

| 45748
- 26374
19,374

Long multiplication
5172 x 38 =

5172

X 38
41376

+ 155160
100160
196536

1

Compact short division

432 = 5 becomes

8 6

3
5(4 3 2

r2

Compact written method involving
carrying

264 + 148

2 64
+1 48
412

1 1

Addition involving decimals using
compact written methods

Subtraction using expanded written

methods in a vertical layout
66 - 54 Introduce practically, e.g

66
Il

take away 54

leajves

T O
60 6
-50 4

— 12

10+2

Compact written method
81-57

ﬂ
o -
firglle)

1
ol
~J

_2 4
Subtraction of decimal numbers to 2

decimal places using compact written
method

Multiply numbers up to 4 digits by a
one- or two-digit number using a
formal written method, including long
multiplication for two-digit numbers

Multiplying a 3 or 4-digit number by a 1-digit
number:

Divide numbers up to 4 digits by a
one-digit number using the formal
written method of short division and
interpret remainders appropriately
for the context (as fractions, as
decimals or by rounding (for example,
98 +4=98/4=24r2=24"'2=245
8 25))

r2
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3.56+2.47 £2.31-£1.53

3.56 €221

£1.53

+2.47 c0. 78
6.03
11

Developing conceptual understanding
Progress to expanded written 234 - 179 Column multiplication for 3 and 4 Use practical resources to support
methods involving hundreds digits x | digit solving division number sentences
145 + 127 ©) ® ] Hundreds Ones with remainders (ThHTU + U)
H T o Oe0 0000 Itiitim-t t . Z?F(fsz: ‘
portant a r
100 40 5 | this stage 219635 R ! /1 :
4 that the - ) ) ! e
+ 100 20 7 0e00 0@ @ ¥
200+60+12 272 ® Y X ) — alw-r:;_.rz:I
=== mu
Base 10 (tens and ones) _ ] B B::S Divide whole numbers and decimals
Exchange ten ones for a ten and ten Model process of exchange using Numi- | .. 0 g by 10,100 and 1000
tens for a hundred and ten hundred con, base ten and then move to PV coun- . | .- first. 4S) = 10 = 45\
for a thousand ters. 4S) ~100= - 4-5)
——— | S | — Subtract with 4 digits, including Children can continue to be supported by L|5) ~1000*= 045\
— — d olace value counters at the stage of multipli- ; A
L] | Il | { | aam mone‘y El: meisures zation. This initially done where there is no 5 e Uu-a K LY
z /I’ IO ,3’ IG regrouping. 321x2 =642 4 5 ‘
S 11 -_21238 o e (210)
2 8 -,q 2 8 Pictorial L-I' 5 l (—E-IOO)
Se Zeros " |
far place- /_7/ 6 ﬂ/ ’ 0 4 1200 80 28
holders. - 3 7 '2_ ' 5 Bar Model
G796 - 5
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tens| ones 4 tenths | hundredths 32 7 A A ::::::::::Tﬁ:::u::p;mﬂ:
Bar Model = LL This will lead to Ya
a compact
.. .. K I’ 3 O 8 method. | I | |
.. %3 N = S
Introduce decimal place value counters larger dunnity
—— : AL
and model exchange for addition. port part Bar ‘mOde"mg to support PrObIem g N
Relate to money and measure solving f | i | | !
y | w | - larger quantity + smaller quantity = multiple
?2"3 _ 10 8 ;.Y_/ larger quantity + multiples = langer quantity
ﬂ_ n smaller quantity
“ difference
127 .4
larger quantity - smaller quantity = difference
11 £23 51
+£7 55
IE' 1 , i I+ 118 18 x 3 on the
first row
®x | 1 3
23- 36| < (8 x 3 =24, carry-
Insert zeros for 9-08 0 5|4 -
5(:‘.1 p 770 2 ing the 2 for 20,
place holders. + - 300 i|ls|o0 then 1x 3)
31} : ? | l/ 2|3 |4 18 x 10 on the
2nd row. Show
Bar Model multiplying
_"h}""i l 3 I_]‘_ h‘jl' 10 b‘,l'
s N\ N P putting
- - JEG ke
x
A 7 z LL ones first
prirt part i H: O (1234 x 10)
Bar Model
difference
smaller quantity » difference = langer quantity
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w one part x number of parts = whole
4 A
Hf_/
part
langer quantity
4 i
E =maller quantity x multiples = langer quantity
smaller quantity

With jottings Or in your head

Add numbers mentally with

increasingly large numbers ( e.g.2358
+773)

Subtract numbers mentally with

increasingly large numbers ( e.g. 12
462 —2300 = 10 162)

Multiply numbers mentally drawing
upon known facts

Partition

47 x 6 = (40 x 6) + (7 x 6)

=(240) + (42)

=282

Double and halve

25x 16 =50x8=100x4=200x 2
= 400

Divide numbers mentally drawing
upon known facts

Partitioning
72+3=(60+3)=(12+3)
=20+4

=24
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Partition both numbers and recombine

2358 + 773

2000 +300+50+8+700+70+ 3
= 2000 + 1000 + 120+ 11
=3000+100+30+1

Subtract the nearest multiple of 10 or
100, then adjust

458-79 =458 -80+1

=3131
Partitioning with number lines
+700 +70 +3
' N NCN
2358 3058 3128 3131

Partition second number on?rinfo
hundreds, tens and ones and recombine

2358 +773:=2358+700+70+3
=3058+70+3
= 3128+ 3
= 3131

Add the nearest multiple of 10 or
100, then adjust

458 + 79 =458 + 80 - 1

=378 +1
= 379
Find a difference by counting up
RO06- 2983 = 5017
/N NN
2855 3000 BON0 8006

Use known number facts and
place value to subtract (partition
second number only)

12 462 - 2300
= 12 462 - 2000 - 300
= 10 462 - 300
= 10 162
10162 10462 12462
-300 -2000

Multiply whole numbers and those
involving decimals by 10, 100 and
1000

Place Value
1000s| 100s 10s 1s %s 1c1>os \
L0 Y Jerey 234,2 |
10
o0 o0
e %o 25 o
o0
... 0.% m\zno
o0 OOO ..% 2340

Divide whole num
involving decimals by
1000

Place Value
100s 10s is %S
o0 00
LY ] |2
.. .... ‘ ‘2+10
% 3R |-
00|00 | 0024 e
o0

Identify multiples, (and use them to
construct equivalence statements, e.g.
4x35=2x2x353x270=3x3x
9x10=92x10) 48

Factor trees:

1*
4

ZE
® 12

1

*
¥
ay

[

i &

Ny X

i
S

=
x
L% R,

kY
® fh
AT S B

2xI IR IxN3I

Identify factors, including finding all
factor pairs of a number, and
common factors of two numbers (and
use them to construct equivalence
statements, e.g.
4x35=2x2x353x270=3x3x
I9x10=92x 10)

Recognise and use square numbers
and cube numbers, and the notation
for squared (?) and cubed (3)

3x3=3°

1x1x1=1° '
2x2x2=2} '

3x3x3

1x10 1x1=1?
00 =92
2x2..2x2 2
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Year 6

Year 6

Addition

| Subtraction

| Multiplication

| Division

Written Method

Compact written method involving

carrying
325,748 + 246,374=

) 325,748
+ 246374
572,122

1111

Compact written method exchanging
across columns
445,748- 126,374=

445548
126 374
319,374

Long multiplication
2427 x 38=

2427
X 38
19416
72810
92226

Long Division
432 + 15 becomes

w

-
w
-3

o W~

o N N e

- .

|
o o¢E——o ™

- HI' MW
NN

o

Addition involving decimals using

compact written methods
3.56+2.47

3.56
+2.47
6.03

1 1

Add several numbers with different
numbers of decimal places

Zero used as
a place value
holder.

Compact written method
81-57

o
11
7

2 4
Subtraction of decimal numbers to 2
decimal places using compact written
method

00 =

7

1
ol

£2.31-£1.53

£2'31
£1.53
£0.78

Short multiplication and Long
multiplication as in Year 5, but apply
to numbers with decimals.

3|° | |9

x &
Z'DI_-:)Z

divide numbers up to 4 digits by a
two-digit number using the

formal written method of short and
long division, and interpret
remainders as whole number
remainders, fractions, or by rounding.
Short Division

Short division

8 + 7 becomes 432 = 5 becomes 496 = 11 becomes

1 4 8 6 r2 4 5 ri

F] F B
7/9 8 5|4 3 2 1 1|4 9 &

Answer: 14 Angwer; 45
Long Division

432 + 15 becomes

Answer: 86 remalnder 2

432 + 15 becomes

£ r12

2 1 5|4
3

2 1

1

15

a
3
1
1

N WD WN
WD W N
=
-]

(X1

i = 4
-#- -+

Answer: 28 remainder 12 Answer: 28 §

Remainders

Page 16 of 18




Quotients express
decimal fractions
6l +4=15"Yor 1525

Developing conceptual understanding

Relate to money and measure Subtract with 4 digits, including Fractions Fractions
728 money and measures 1/3+2=1/6
+s46 £23 59 BUA 0% % . 9=
127.4 +£7".“35 — 21 2% T2—
11 €3] )% 28,92 8
! (C=0)
Insert f 9- 08 Use zeros = 3 |
e 59770 |wee XA 0
- 300,‘ holders. - 3 7 2_ ) 5 § - 2 — Q
332 G796 -5
Fractions Yeg's - w9 kg Bar Model
-_ 36 - 080k T simpmeinens
69 - 3395k ——— |
Fractions Rt
larger quantity
Bar Model - ’rr T T \I
Ba’r MOdeI larger gquantity « emaller quantity = multiple
5 _ larger quantity + multiples = langer quantity

difference

smaller quontity + difference = larger quantity

Bar Model
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whale whole
one part x number of parts = whole
Al Al
g P 4
part part part
langer quantity
| T
k-—v—J E =maller quantity x multiples = larger quantity
difference \ )
larger quantity - smaller quantity = difference smaller quantity

With jottings Or in your head

perform mental calculations, including
with mixed operations and large
numbers (and decimals)
Partition both numbers into
hundreds, tens, ones and decimal
fractions and recombine
358+73=30+5+08+7+0.3
=30+ 12+ 1.1
=42 + |1
=43.1

Partition second number only into
hundreds, tens, ones and decimal
fractions and recombine

358+73=358+7+0.3

=428+0.3
=43.1
Add the nearest whole number then
adjust
52+ 11.9=52+12-0.1
=64-0.1
=639

perform mental calculations, including
with mixed operations and large
numbers(and decimals)

Use known number facts and place
value to subtract

6.1 —24=37
17 a1 6.1
'\; _/("“\,_____x-"af
-0.4 -2

Subtract the nearest whole number
then adjust
52-11.9=52-12+0.1

=40+ 0.1

=40.1

perform mental calculations, including
with mixed operations and large
numbers(and decimals)

Partitioning
47x6=(4x6)+ (0.7 x6)
=(24)+(42)
=282

Double and halve
425x32=85x16
=17x8
=34x4
=68x2
=136

perform mental calculations, including
with mixed operations and large
numbers(and decimals)
Partitioning
72+3=(6+3)+(l.2+
3)
=2+04
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